

$$[1] \int_0^2 \frac{3}{4} x^2 (2-x) dx = \frac{3}{4} \int_0^2 (2x^2 - x^3) dx = \frac{3}{4} \left[\frac{2}{3} x^3 - \frac{1}{4} x^4 \right]_0^2 = \frac{3}{4} \left(\frac{16}{3} - \frac{1}{4} 16 \right) = \frac{1}{4} (16 - 12) = 1.$$

$$② \int_0^{\infty} e^{-\theta x} dx = \left[-\frac{1}{\theta} e^{-\theta x} \right]_0^{\infty} = \frac{1}{\theta}$$

$$\begin{aligned} ③ \int_0^2 \int_0^1 (x+y)^2 dx dy &= \int_0^2 \left[\frac{1}{3} (x+y)^3 \right]_0^1 dy \\ &= \int_0^2 \left(\frac{1}{3} (1+y)^3 - \frac{1}{3} y^3 \right) dy \\ &= \frac{1}{3} \left[\frac{1}{4} (1+y)^4 - \frac{1}{4} y^4 \right]_0^2 = \frac{1}{12} (3^4 - 2^4 - 1) = \frac{64}{12} = \frac{16}{3}, \end{aligned}$$

$$\begin{aligned} ④ \int_0^{\frac{\pi}{2}} \int_0^{\frac{\pi}{2}} \cos x \cos y dx dy &= \int_0^{\frac{\pi}{2}} \cos y \left[\sin x \right]_0^{\frac{\pi}{2}} dy \\ &= \int_0^{\frac{\pi}{2}} \cos y dy = 1. \end{aligned}$$

$$\begin{aligned} ⑤ \int_0^1 \left(\int_0^{2x} (x+y)^2 dy \right) dx &= \int_0^1 \left[\frac{1}{3} (x+y)^3 \right]_0^{2x} dx \\ &= \int_0^1 \frac{1}{3} (8x^3 - x^3) dx \\ &= \frac{1}{3} \int_0^1 7x^3 dx \\ &= \frac{7}{3} \left[\frac{1}{4} x^4 \right]_0^1 = \frac{7}{12} \end{aligned}$$

$$⑥ \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (1+x^2+y^2)^{-\frac{3}{2}} dx dy$$

$$x = r \cos \theta, y = r \sin \theta \quad r \geq 0$$

$$= \int_0^{\infty} \int_0^{2\pi} \{1+r^2(\cos^2 \theta + \sin^2 \theta)\}^{-\frac{3}{2}} \frac{1}{r} r dr d\theta$$

$$= \int_0^{\infty} \frac{r}{(1+r^2)^{\frac{3}{2}}} \left(\int_0^{2\pi} 1 d\theta \right) dr$$

$$= 2\pi \left[-(1+r^2)^{-\frac{1}{2}} \right]_0^{\infty} = 2\pi$$

$$[2] \int_0^{\infty} x^A \exp(-Bx) dx = \int_0^{\infty} \left(\frac{y}{B}\right)^A \exp(-y) \frac{1}{B} dy$$

$$Bx = y \text{ とおくと}$$

$$dx = \frac{1}{B} dy \quad = B^{-(A+1)} \int_0^{\infty} y^A \exp(-y) dy$$

$$= B^{-(A+1)} \Gamma(A+1) //$$

24

6

$$[3] X \sim B(3, \frac{2}{5})$$

$$P(X=0) = {}_3C_0 \left(\frac{2}{5}\right)^0 \left(\frac{3}{5}\right)^3 = \frac{27}{125}$$

$$\textcircled{1} P(X=2) = {}_3C_2 \left(\frac{2}{5}\right)^2 \cdot \frac{3}{5} = \frac{36}{125} //$$

$$P(X=1) = {}_3C_1 \left(\frac{2}{5}\right) \left(\frac{3}{5}\right)^2 = \frac{54}{125}$$

$$P(X=3) = \left(\frac{2}{5}\right)^3 = \frac{8}{125}$$

$$\textcircled{2} X \sim B(3, \frac{2}{5})$$

$$\textcircled{3} E(X) = \frac{6}{5}$$

$$\textcircled{4} V(X) = 3 \cdot \frac{2}{5} \cdot \frac{3}{5} = \frac{18}{25} //$$

$$\textcircled{5} D(X) = \sqrt{\frac{18}{25}} = \frac{3\sqrt{2}}{5}$$

$$[4] f(x) = \theta e^{-\theta x}$$

$$\textcircled{1} E(X) = \int_0^{\infty} x \cdot \theta e^{-\theta x} dx = \theta \int_0^{\infty} x e^{-\theta x} dx \quad [2] \text{において } A=1, B=\theta \text{ とおく}$$

$$= \theta \cdot \theta^{-2} \Gamma(2)$$

$$= \frac{1}{\theta} //$$

$$\textcircled{2} E(X^2) = \int_0^{\infty} x^2 \theta e^{-\theta x} dx$$

$$= \theta \int_0^{\infty} x^2 e^{-\theta x} dx$$

$$[2] \text{において } A=2, B=\theta \text{ とおく}$$

$$= \theta \cdot \theta^{-3} \Gamma(3)$$

$$= \theta^{-2} \cdot 2 \Gamma(2)$$

$$\therefore V(X) = E(X^2) - E(X)^2 = \frac{2}{\theta^2} - \left(\frac{1}{\theta}\right)^2 = \frac{1}{\theta^2} //$$